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Which of the following is the correct
equation for the graph shown?

A. y=%x+2

[go to card #7]

B. y=%x—2

[go to card #5]

C. y=-% +2

[go to card #2]

_ 1
D. Y—-ZX"'j

[go to card #4]
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Which of the following is the correct
equation for the graph shown?

A.y=-x+30 B. y=30x-1

[go to card #8] [go to card #3]
C. y=2x-30 D. y=-2x+ 30

[go to card #6] [go to card #7]
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Which of the following is the correct
equation for the graph shown?

A. y=-6 B.y=-x-6

[go to card #9] [go to card #4]
C. x=-6 D. x=0

[go to card #10] [go to card #1]
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Which of the following is the correct
equation for the graph shown?

A y=0 B.y=11

[go to card #10] [go to card #8]
C. x=11 D. y=x+11

[go to card #6] [go to card #5]
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Which of the following is the correct
equation for the graph shown?

A.y=-§ -4 B.y=-% -4

[go to card #9] [go to card #6]

C.y=-% -2 D.y=% -2

[go to card #1] [go to card #8]
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Which of the following is the correct
equation for the graph shown?

A. y=-6x+12 B. y=-2x+ 12

[go to card #2] [go to card #10]
C. y=6x-12 D. y=2x+ 12

[go to card #7] [go to card #3]

©Maneuvering the Middle LLC, 2016



>
1234567 89 10111213141516

Which of the following is the correct
equation for the graph shown?

A.y=%x+15 B.y=%x+15

[go to card #1] [go to card #9]
C.y=%x+15 D.y=%x+15

[go to card #3] [go to card #5]
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Which of the following is the correct
equation for the graph shown?

LY =X B.y=x+10

[go to card #4] [go to card #10]
C. y=20x D. y=10«x

[go to card #2] [go to card #1]
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Which of the following is the correct
equation for the graph shown?

A.y=-3x+130 [B.y=-2x+130

[go to card #7] [go to card #3]
C. y=-16x+ 130 |D. y=-130x+ 15

[go to card #6] [go to card #8]
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Which of the following is the correct
equation for the graph shown?

%X—Z

A y=
[go to card #2]

B. y=%x—2

[go to card #4]

C. y=-%x+2

[go to card #5]

D.y=%x—2

[go to card #9]
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Unit: Linear Relafionships
Scavenger Hunt

Name
Date

Pd

GRAPHING LINEAR EQUATIONS: SCAVENGER HUNT

CARD =

SOLUTION

NEXT CARD
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Unit: Linear Relafionships
Scavenger Hunt

Name

Answer Key

Date

Pd

GRAPHING LINEAR EQUATIONS: SCAVENGER HUNT

CARD = SOLUTION NEXT CARD
# | B. y :%x—2 #5
#) D. y =-2x + 30 #7
#3 C. x=-6 #10
#4 B. y=11 #8
#5 Ay = —%x —4 #9
#6 A,y =-6x+ 12 #2
#/ C.y= %x + 15 #3
#8 D. y = 10x #1
#9 C. y =-15x + 130 #6
%10 B,y = gx 2 #4
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